N300479-5
65101-11731-E

Installation Instructions
Honeycomb Shades Special Shapes

Perfect Arch ound L/R

,’,\7

<

Getting Started

Check Component/Hardware:

for 3/4” Single for 9/16”Single
&1/2” Double
Installation Bracket

A

for 3/8” Single

180°Center 90°Center
Template Template
Bracket Clip
90°Center 180°Center
Support Support

Hardware Standard Quantity

Step 1: Assemble the Shade

For perfect arch, Eyebrow, Elongated Eyebrow,
and Triangle:

Remove the shade from the package. Save the
packaging until the shade is installed and working to
your satisfaction.

Tools Needed:

- Power drill and drill bit
- Measuring tape

- Screwdriver e
+ Level

- Pencil Q - —
You will need to use the following fasteners for your
particular mounting surface.

Order Width (X) X=48" | X>48"
Installation Bracket 2 4
Bracket Clip (for perfect arch,
Eyebrow, Elongated 4 6
Eyebrow)
Bracket Clip (Triangle) 6 8

For Perfect Arch, Eyebrow, Elongated Eyebrow,
and Triangle (take Perfect Arch as example):
Open the shade and place the rail into the bottom of
180°center support tightly, and then install the front
and back 180°center templates:

For Quarter Round, Arch on Top, Angle Top, and
Half Eyebrow (take Quarter Round as example):
Open the shade and place the rail into the bottom of

90°center support tightly, and then install the front and

back 90°center templates:

l®§

Step 2: Install the Bracket

For shade width
X=24" , measure 1.5”
(38mm) from both ends
of the rail to locate the
center of the brackets

3Bmm

For shade width

X >24”, space the E
brackets evenly along

the rail Yg

e

Use two #8x1 1/4” screws to attach the installation
brackets on the window frame,

The min. distance is 11/16” from the front bracket to
the edge of window frame.

Step 3: Install the Shade

1 1/4" Screw for
Installation Bracket

Installation bracket
qty x 2

3/4" Screw for Bracket Clip Bracket Clip gty

For Quarter Round, Half Eyebrow, Arch on Top,
and Angle Top:

Surface Fastener
#8x1 1/4” Screws
(Provided)
Wood #6x3/4” Screws
(Provided)

Order Width (X) X=24" | X>24"
Installation Bracket 2 4
Bracket Clip (Quarter Round, 5 4
Half Eyebrow, Arch on Top
Bracket Clip (Angle Top) 4 6

Wall Anchors, Expansion Bolts

DrywaII/PIaster (NOt Provided)

Installation bracket
qty x 2

1 1/4" Screw for Installation
Bracket

Sheet Metal Screws

Metal (Not Provided)

3/4" Screw for Bracket Clip Bracket Clip gty

Mark the bracket location on the mounting surface as
shown in the following illustrations.

For Perfect Arch, Eyebrow, Elongated Eyebrow,
and Triangle (take Perfect Arch as example):

For shade width X=48",

measure 1.5” (38mm)

from both ends of the

rail to locate the center !
of the brackets ,s% W\ (2)%“\

A\

-

For Quarter Round, Arch on Top, Angle Top, and
Half Eyebrow (take Quarter Round as example):

For shade width

X >48", space the
brackets evenly along
the rail

1. Install the Bracket Clip

Insert the Bracket Clip into fabric and then close the
Bracket Clip to keep it clamped on the fabric.
Double Cell:

Step1 Step2
Single Cell:
Step1 Step2

Bracket Clip open and close illustration:



not on the leg (H).
Triangle
Shade width X=48"

APlease pull up the high point of leg (H) to make
leg stand before install the Bracket clip screw. The
Bracket clip screw should be installed on the curve,

Shade width X>48"

Open Close

2. Put the shade inside the window opening.

Space Evealy

Quarter Round & Half Eyebrow

Shade width X=24”"

Arch on Top
Shade width X<24"

E
b

3. Install the Screws for Bracket Clip not on the leg (H).

Mark the bracket clip location on the mounting surface Angle Top

as shown in the following pictures.

Perfect Arch & Eyebrow
Shade width X=48” Shade width X>48"

Shade width X=24”

Triangle
Shade width X<48”

Elongated Eyebrow
Shade width X>48"

Shade width X=48”

/o

—

I
H

1

Shade width X>24"

Shade width X>24"

Please pull up the high point of leg (H) to make
leg stand before install the Bracket clip screw. The
Bracket clip screw should be installed on the curve,

Shade width X>24"

Shade width X>48"

Space Evenly

Install a #6x3/4”screw into the corresponding location
of the bracket clip about 1 1/8" distance from the front
window frame (do not drive the screw completely in
and leave around 2mm gap to insert Bracket Clip)

%

4. Install the rail

Place the front groove of the rail into the front iron wire
of the bracket and then push forward to make the
back groove of the rail snap into the back groove of
the bracket.

o .0
{_uﬂ

le—

mn[v

Step 1

5. Insert the Bracket Clip into the screw from the
notch.

Step2

Shade Removal

1. Take off the Bracket Clip from the screw.
2. Backward the rail from the front and then force
the rail up from the back.

|

—Je
IS

A
I’

Cleaning

Routine cleaning will help maintain the beauty of
your shade. The shade can be cleaned by using a
soft brush, vacuumed with a low suction hand-held
vacuum, cleaned ultrasonically (specify that a mild
solution must be used and that the rail should never
be immersed in liquid). Spot cleaning is not
recommended, but if necessary, dampen a clean
cloth with a solution of warm water and mild
detergent to dab the spot until it's gone (do not rub!)

Some options listed may not be
applicable.



